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@ =Zx7 37 M1A1
1
0) =4 =1 M1Al (4)
AP. a=27,1=67 Bl
n=30-9=21 Bl
Sn=2(27+67) M1
= 2 x 94=0987 Al (4)
6x°-1 _ a3 _ 143
i X > X M1 A1
93¢ —2x?)= 9y + 1xE M1A2 (5)
dx 2 2 4
(@ ¥+3x—10>0
x+5((x-2)>0 M1
-5 2 M1
x<-5o0r x>2 Al
(b) 3xX-2<x+3 = 2x<5 M1
x<g Al
both satisfied when x<-5 or 2<x< 2 Al (6)
(@ w=K-1 Bl
us= (K -1)%-1=KkK - 2K M1A1
(b)) K-2+K-1=11
K'-K-12=0 M1
(K+3)(K-4)=0 M1
k? = -3 (no solutions) or 4 Al
k=+2 Al 7)
(@ (x+2K*-(2k?-k=0 M1
(x + 2k)? = 4k% + k Al
X+ 2k = £+/4k? + k M1
x = -2k £+/4k? + k Al
(b) nored rootsif 4k¥+k<0 M1
k(4k + 1) <0, critical values: —%,0 Al
M1
. -2 <k<0 Al (8)
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7 (@  stretch by factor of 3 in y-direction about x-axis B2
or stretch by factor of 3 in x-direction about y-axis
(b) y
B2
asymptotes: x=0 and y=0 Bl
(e} X
3 = —_
(© Z=C 3x
3=cx-3%¢ M1
3 -cx+3=0
tangent .. equal roots, b?—4ac=0
(—0)*-(4x3x3)=0 M1A1
=36, c=16 Al (9)
= 7; =3
8 (@ gad= o7 = 2 M1Al
y-4=3(x-7) M1
2y—-8=3x-21
3x—-2y-13=0 Al
(b) y=8x Bl
(o0 aR 3x-2(8x-13=0
x=-1 . R(-1,-98) M1A1
OP = \7?+4% = \[49+16 = /65 M1A1
OR= {/(-1)?+(-8)? = \1+64 = /65 .. OP=OR Al (10)
9. (a) y:j (6-4x—3A) dx, y=6x—-2¢-x+c M1A2
(0,0) . c=0 M1
y=6x—2¢-x Al
(b) 6x-2¢-x=0, x(6-2x-x)=0 M1
x=0@0) or 6—2x-x*=0
aAB x= 2“_4;24 = Zi_zzﬁ =-1+.7 M2 Al
A(-1-+7,0),B(-1+ 7,0)
" AB=(-1+7)=(-1-~7)= 227 [k=2] M1A1 (11)
10. (@ ;ﬂ =1-3x2 M1A1
X
grad=1-3(1)?=1-3=-2 Al
(b) x=1.y=4
_ -1 _
grad = -z 2 M1A1
y-4=1(x-1) M1
y=1ix+Z Al
3 _ 7
(© x+ o= ix+ 3
2¢+6=x+7x M1
X¥—-T7x+6=0, (x-1)(x-6)=0 M1
x=1(atP),6 Al
- (6, 61) Al (11)
Total (75)
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Performance Record — C1 Paper A

Question no. 1 2 3 4 5 6 7 8 9 10 | Totd
TOpiC(S) surds, AP diff. inequals | recur. compl. |transform.,| straight | integr. diff.,
indices relation | sguare | rep. root lines normal
Marks 4 4 5 6 7 8 9 10 11 11 75
Student
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